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How to play:

1. Decide why each answer belongs.
2. Decide why each answer belongs not.

Which Doesn” t Belong & Why?
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wind
rain
snow
sleet
hail

Which Doesn” t Belong & Why?
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wind
rain
snow
sleet
hail

“snow” does not belong, because it is quiet.
o) (Can you think of a different grouping?)

Which Doesn” t Belong & Why?
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CELLO
WASHTUB BASIN
FIDDLE

BASS

GUITAR

LUTE

TRUMPET

Which Doesn” t Belong & Why?
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CELLO
WASHTUB BASIN
FIDDLE

BASS

GUITAR

LUTE

TRUMPET

“TRUMPET” DOES NOT BELONG, BECAUSE IT DOES NOT HAVE STRINGS..
(Can you think of a different grouping?)

Which Doesn” t Belong & Why?
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> Trombone

> Chimes
>Drum
>Guiro

> Tambourine
»Bongo

> Xylophone

Which Doesn” t Belong & Why?
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> Trombone

> Chimes
>Drum
>Guiro

> Tambourine
»Bongo

> Xylophone

“Trombone” does not belong because it is not a percussion instrument.
(Can you think of a different grouping?)

Which Doesn” t Belong & Why?
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=Light waves

=Ocean waves

= Gravity waves

=Sound waves

= Electromagnetic waves

Which Doesn” t Belong & Why?
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=Light waves

=Ocean waves

= Gravity waves

=Sound waves

= Electromagnetic waves

“Ocean waves” does not belong because it 1s made of matter.
(Can you think of a different grouping?)

Which Doesn” t Belong & Why?
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afromhbone
aFlute
aGlarinet
aFrench horn
olTuba
aSaxophone
oViola

Which Doesn” t Belong & Why?



afromhbone
aFlute
aGlarinet
aFrench horn
olTuba
aSaxophone
oViola

“Viola” does not helong hecause it is not played hy mouth.
(Can you think of a different grouping?)

Which Doesn” t Belong & Why?




@\ DB&W 7

owavelength
operiod
ofrequency
ocolor
oamplitude

Which Doesn” t Belong & Why?
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owavelength
operiod
ofrequency
ocolor
oamplitude

“color” does not belong because it is not a description of a wave.
) (Can you think of a different grouping?)

Which Doesn” t Belong & Why?




